Ethics Bowl

SOF Travel Grant Proposal

Created by Jayme Lynne Dorsey ICC Rep

Agenda

- 01 Mission Statement
- 02 Purpose of Grant
- 03 Interinery
- 04 Impact
- 05 Method of Evaluation
- 06 Budget

Mission Statement

Ethics Bowl Club was established for the expressed purpose of developing leadership skills as well as an awareness of social responsibilities to encourage students to participate in public affairs. This organization is an entity that is initiated and directed by a group of current BC students who share a common vision in promoting an extra-curricular or co-curricular mission that enriches campus or community life and personal development.

Purpose of Grant *____*

The Ethics Bowl Club is requesting a \$1000 SOF Travel Grant to attend the Two-Year Regional Ethics Bowl Competition in Chicago Il

Friday 11/21 to Sun 11/23.

Participation in this event provides members of the ethic bowl with the opportunity to engaging in thoughtful dialogue on complex ethical issues, practice critical thinking, and teamwork in a public forum.



Interinery

Friday 11/21/25

- 10am Depart BC Panorama Campus
- 12:30pm Arrive at LAX
- 1pm Lunch
- 2:22pm Fly from LAX to Chicago
- 8:25pm Arrive in Chicago
- 9pm Arrive at Hotel, Quality Inn

Saturday 11/22/25

- 8am Practice in hotel; breakfast
- 9am Competition
- 12pm Lunch
- 1pm Competition
- 5pm Dinner
- 6:30pm Return to hotel

Sunday 1123/225

- 7am Breakfast at hotel
- 10:30am Checkout & go to airport
- 12pm Lunch
- 1pm Fly to LAX
- 3:30pm Arrive at LAX
- 6pm Arrive at BC Panorama Campus

Two-Year Regional Ethics Bow

The Two-Year Ethics Bowl is open to any institution from a two-year college or university.

Important Information

Host Institution and location: Harper College (Palatine, Illinois)

Date: Saturday, November 22, 2025

Fee: \$200

Contact: John Garcia (jgarcia@harpercollege.edu)

Registration info: Schools may register 1 team in the three-week registration period, and it will be open

following that waiting period. Max number of teams: 16

Basic format: Four rounds and a final

Food provided: Lunch

Schedule and Logistics (coming soon)

- Agenda
- · Location details, including parking instructions and a map
- · Hotel group rates
- Regional rules, including:
 - Number of cases being used
 - · Which cases (if any) were dropped
 - · Any region-specific rules

Impact of Attending

Attending the Two-Year Regional Ethics Bowl allows students to strengthen their ethical reasoning, communication, and leadership skills through real-world application.

Members will gain experience in public speaking, teamwork, and respectful debate while attending this competition.

Also, participation in this event gives members the opportunity to network as it connects students with peers and professionals who share an interest in ethics.



Method of Evaluation

Reflection and Feedback

Collect written or verbal reflections from team members about what they learned in leadership, teamwork, and ethical reasoning.

Performance Assessment

Reviewing judges'
feedback and team
scores from the
competition to identify
strengths and areas for
improvement.

Budget

Ethics				
Travel				
1000	(Total from column F)			
Quantity	Unit Price	Sub Total	Funded by StudOrg	Requested from SOF
4	\$396.96	\$1,587.84	\$587.84	\$1,000.00
2	\$396.96	\$793.92	\$793.92	
3	\$194.08	\$582.24	\$582.24	
1	\$194.08	\$194.08	\$194.08	
1	\$357.00	\$357.00	\$357.00	
4	\$26.00	\$104.00	\$104.00	
4	\$48.00	\$192.00	\$192.00	
4	\$52.00	\$208.00	\$208.00	
		\$0.00		
	Travel 1000 Quantity 4 2 3	Travel 1000 (Total from column F) Quantity Unit Price 4 \$396.96 2 \$396.96 3 \$194.08 1 \$194.08 1 \$357.00 4 \$26.00 4 \$48.00	Travel 1000 (Total from column F) Quantity Unit Price \$\frac{\text{Sub Total}}{\text{Total}} 4 \$\frac{\text{\$396.96}}{\text{\$396.96}} \$\frac{\text{\$1,587.84}}{\text{\$793.92}} 3 \$\frac{\text{\$194.08}}{\text{\$194.08}} \$\frac{\text{\$582.24}}{\text{\$100}} 1 \$\frac{\text{\$357.00}}{\text{\$357.00}} \$\frac{\text{\$357.00}}{\text{\$357.00}} 4 \$\frac{\text{\$48.00}}{\text{\$352.00}} \$\frac{\text{\$192.00}}{\text{\$208.00}}	Travel 1000 (Total from column F) Quantity Unit Price Sub Total Funded by StudOrg 4 \$396.96 \$1,587.84 \$587.84 2 \$396.96 \$793.92 \$793.92 3 \$194.08 \$582.24 \$582.24 1 \$194.08 \$194.08 \$194.08 1 \$357.00 \$357.00 \$357.00 4 \$26.00 \$104.00 \$104.00 4 \$48.00 \$192.00 \$192.00 4 \$52.00 \$208.00 \$208.00

SOF Travel Grant \$1000 Funded by Advisor \$3019.08 **Total Cost of Trip: \$4019.08**